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B.Com. DEGREE EXAMINATION – 
JUNE, 2009.

(AY 2003-04 and CY 2004 batches only)

First Year

Paper III — FINANCIAL ACCOUNTING

Time : 3 hours Maximum  marks : 75

SECTION A — (3 × 5 = 15 marks)

Answer any THREE questions.

1. Explain the objectives of Accounting.

PnUS £vÂ ¯¼ß  ÷|õUP[PÒ £ØÔ Â Á›.

2. What is average due date?

\õµ\› uÁø n |õÒ Gß ÓõÀ Gß Ú?

3. What are the limitations of single entry system?

JØø Ó £vÄ  •ø Ó° ß  Sø Ó£õkPÒ ¯õø Á?
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4. Kannan purchased goods from Raman, the due dates 
for payment in cash being as follows :

Rs.
March 15 1,000 Due 18th April
April 21 1,500 Due 24th May
April 27 500 Due 30th June
May 15 600 Due 18th July

Raman agreed to draw a bill for the total amount due on 
the average due date. Ascertain that date.
Ps nß  \µUSPø Í  µõ©Ûhª ¸¢x  ö PõÒ•uÀ ö \´uõº, 

AÁØÔUPõÚ  ö µõUPzø u  AÎ UP  ö Pk |õmPÒ  R÷Ç 

uµ¨ £mkÒÍx .

¹. ö Pk |õÒ

©õºa_ 15 1,000  ḦµÀ 18  

ḦµÀ 21 1,500  ÷© 24 

ḦµÀ 27 500  ãß  30

÷© 15 600  ãø » 18

µõ©ß  \µõ\› uÁø n  |õÒ •ø Ó¨ £i ö \¾zu  ÷Ás ī  

ö ©õzu ö uõø PUS® ©õØÖâmk GÊ v  uµ J̈ ¦U ö Põs hõº. 

\õµõ\› uÁø n |õø Í PnUQkP.

5. A company purchased a  plant for  Rs.  50,000.  The 
useful life of the plant is 10 years and residual value is 
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Rs. 10,000. Find out the rate of depreciation under the 
straight line method.

J̧  {ÖÁÚ®  ¹£õ´. 5 0,000  ö £Ö©õÚ  C ¯¢vµzø u 
Áõ[Q¯x  Auß  B ² mPõ»®  10  B s kPÒ  Auß  
C Öv{ø »  ©v¨ ¦ ¹. 10,000  ÷u´©õÚzø u  ÷|º•ø Ó° À 
PnUQkP.

SECTION B — (4 × 15 = 60 marks)

Answer any FOUR questions.

6. Explain  the  various  methods  of  providing 
depreciation.

÷u´©õÚ® PnUQk® £À÷ÁÖ •ø ÓPø Í Â Á›.

7. What is average clause in Fire-Insurance?

w Põ¨ ¥miÀ \µõ\› Â v Gß ÓõÀ Gß Ú?

8. Distinguish  between  branch  accounts  and 
departmental accounts.

Qø Í  PnUSPÐ US® x ø ÓÁõ› PnUSPÐ US® EÒÍ 

÷ÁÖ£õkPÒ ¯õø Á?

9. A company whose accounting year is  the calendar 
year, purchased on 1.1.2003 a machine for Rs. 40,000. It 
purchased further machinery on 1st October 2003 for  

UG–7013



Wk 10

Rs. 20,000 and on 1st July for Rs. 10,000. On 1.7.2005, 
1/4th  of  the  machinery  installed  on  1.1.2003  became 
obsolete and was sold for Rs. 6,800. 

Show how the machinery account would appear in the 
books  of  the  company  for  all  the  3  years  under 
diminishing  balance  method.  Depreciation  is  to  be 
provided at 10% p.a.

J̧  {ÖÁÚzvß  PnUS  •iUS®  B s k Põ»s hº 

B s hõP C ¸¢ux . Ax  J̧  C ¯¢vµzø u 1.1.2003 Aß Ö ¹. 

40,000  US  Áõ[Q¯x . ÷©¾® Tku»õP  C ¯¢vµ[Pø Í  1 

AU÷hõ£º 2003 Aß Ö ¹. 20,000 US®, 1 ãø » 2004 Aß Ö 

¹.  10,000  US®  Áõ[Q¯x .  A¢{ÖÁÚ®  1.7 .2005  

Aß Ö, 1.1.2003  À {ÖÁø P  ö \´¯¨ £mh  1/4  £Sv  C ¯

¢vµ®  Põ»Áõv¯õQÓ  {ø »° À  C ¸¢uuõÀ  Aø u  

¹. 6 ,800 US Â ØÖÂ mhx .

A¢{ÖÁÚ HkPÎ À ‰ ß Ö B s kPÐ US  10% \uÃu Sø Ó

¢x  ö \À ÷u´©õÚ •ø Ó° À ‰ ß Ö B s kPÐ US GÆÁõÖ 

£vÄ  ö \´Áõ´?

10. A  fire  occurred  in  the  premises  of  ‘X  Ltd’  on 
10.10.2001.  All  stocks  were  destroyed  except  to  the 
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extent  of  Rs.  6,200.  From  the  following  figures, 
ascertain the loss of stock suffered by the company :

Rs.
Stock on 1.1.2000 40,000
Purchased during 2000 1,45,000
Sales during 2000 2,00,000
Stock on 31.12.200 25,000
Purchases during 2001 upto date of fire 1,52,200
Sales during 2001 upto date of fire 1,89,000

    X ¼ªö hm {ÖÁÚ  ÁÍõPzvÀ 10.10.2001 J̧  w Â £zx  
HØ£mhx . AvÀ  A¢{ÖÁÚzvß  ¹. 6 ,200  ©v¨ ¦ÒÍ 
\µUSPÒ  uÂ µ  ¤Ó  \µUSPÒ  Aø Úzx ® w° À AÈ¢x  
÷£õ° Ú. ¤ß Á¸® Â £µ[Pø Í  ö Põs k G›¢x  ÷£õÚ 
\µUSPÎ ß  ©v¨ ø £ Ps hÔP.

¹.

\µUQ¸¨ ¦ 1.1.2000 40,000
ö PõÒ•uÀ 2000 ® B s iÀ 1,45,000
 Â Ø£ø Ú 2000 ® B s iÀ 2,00,000
\µUQ¸¨ ¦ 31.12.200 ® B s iÀ 25,000
ö PõÒ•uÀ 2001 ® B s k •uÀ 

 w Â £zx  HØ£mh ÷uv Áø µ 1,52,200
Â Ø£ø Ú 2001 ® B s k •uÀ 

 w Â £zx  HØ£mh ÷uv Áø µ 1,89,000

11. The following purchases  were made by a business 
house having three departments :
Dept. A — 1000 units
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Dept. B — 2000 units    at a total cost of Rs. 1,00,000
Dept. C — 2400 units
Stocks on 1st January were :
Dept. A — 120 units
Dept. B — 80 units
Dept. C — 152 units
Sales were :
Dept A — 1020 units at Rs. 20 each
Dept B — 1920 units at Rs. 22.50 each
Dept C — 2496 units at Rs. 25 each
The  rate  of  profit  is  same  in  each  case.  Prepare 
departmental trading account.
‰ ß Ö  x ø ÓPø Í  ö Põs h  J̧  {ÖÁÚ®  ¤ß Á¸® 
ö PõÒ•uø » ÷©Øö Põs hx .

x ø Ó ‘A’ – 1000 A»SPÒ

x ø Ó ‘B’ – 2000 A»SPÒ    ö ©õzu  AhUP  ©v¨ ¦  
x ø Ó ‘C’ – 2400 A»SPÒ    ¹. 1,00,000

1 áÚÁ› Aß Ö \µUQ¸¨ ¦

x ø Ó ‘A’ – 120 A»SPÒ

x ø Ó ‘B’ – 80 A»SPÒ

x ø Ó ‘C’ – 152 A»SPÒ

Â Ø£ø Ú

x ø Ó ‘A’ – 1020 A»SPÒ K º A»Qß  Â Ø£ø Ú Â ø » ¹. 20
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x ø Ó  ‘B’ – 1920  A»SPÒ K º A»Qß  Â Ø£ø Ú Â ø » ¹. 
22.5 0

x ø Ó ‘C’ – 2496 A»SPÒ K º A»Qß  Â Ø£ø Ú Â ø » ¹. 25 .

»õ£  \uÃu® Aø Úzx  x ø ÓPÐ US® \©©õP÷Á  C ¸¢ux . 
x ø ÓÁõ› Â ¯õ£õµ PnUø P u¯õº ö \´P.

12. P, Q and R are partners in a firm. They share profits 
and losses equally. Their Balance Sheet on 31.12.2002 is 
given as under :

Liabilities Rs. Assets Rs.
Capitals:P 16,000 Machinery 40,000

R 12,000 Furniture 16,000
Reserve Fund 18,000 Debtors 40,000
Creditors 64,000 Cash at bank 8,000

‘Q’ Capital 6,000
1,10,000 1,10,000

The partnership is dissolved due to insolvency of ‘Q’ who 
is unable to contribute anything in the payment of his 
debt  to  the  firm.  Machinery  realised  Rs.  30,000  and 
furniture Rs. 6,400. Only Rs. 24,000 was recovered from 
debtors.  Creditors  were  paid  at  a  discount  of  5%. 
Prepare the necessary ledger accounts in the books of 
the  firm  when  the  capitals  are  fluctuating.  Apply 
Garner Vs Murray rule.
‘P’  ,  ‘Q’  J̧  {ÖÁÚzvÀ P,  Q ©ØÖ®  R T mhõÎ PÒ 
AÁºPÒ u[PÒ »õ£  ©ØÖ® |mhzø u  \›\©©õP  ¤›zx U 
ö Põs hÚº. 31.12.2003 Aß Ö AÁºPÐ ø h¯ C ¸¨ ¦ {ø » 
SÔ¨ ¦.
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ö £õÖ̈ ¦PÒ ¹. ö \õzx UPÒ ¹.

•uÀ : P 16,000 C ¯¢vµ[PÒ 40,000
R 12,000 ©µa\õ©ß PÒ 16,000

Põ¨ ¦ {v 18,000 PhÚõÎ PÒ 40,000
PhÜ ¢÷uõº 64,000 Á[Q² ÒÍ ö µõUP® 8,000

‘Q’ •uÀ 6,000
1,10,000 1,10,000

Q T mhõÎ  {ÖÁÚzvÀ uß  PhÝ UPõP Gx Ä ® uµ •ī õ©À 
ö |õï ¦ {ø » Aø h¢uuõÀ A¢{ÖÁÚ®  Pø »UP¨ £mhx . 
C ¯¢vµzø u  Â ØÖ  Qø hzu  ö uõø P  
¹.  30,000,  ©µa\õ©ß PÒ  Dmi  u¢ux  ¹. 6 ,400. 
PhÚõÎ PÎ hª¸¢x  ¹. 24,000 ö £Ó¨ £mhx . PhÜ¢÷uõºPø Í 
ö uõø P 5 % \uÃu  uÒÐ £i²hß  v¸¨ ¤  uµ¨ £mhx . ©õÖ® 
•uÀ Aï £ø h° À {ÖÁÚzvß   ÷£÷µkPø Í u¯õº ö \´P. 
PõºÚº  ©ØÖ®  
‰ º÷µ Â vø ¯ ¤ß £ØÖP.

——————
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